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7/11 %; 6 | -25| 1 |KE F#E3) Rl h 2829 2 |BER HZEQ iRt 28.39| 3 |HF BEQ) EFAH 29.85| 4 [BEA @A) g 30.03
5 [AEEHRTEQ) #lep 33.05| 6 |&EBEAR F(2) FHep 33.98
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AR B ] & |4 K% i EEfx | 4 K4 FiE EEfx | 4 K4 FiE EEfx | 4 K4 i E%

7/11 %;ﬂ 71407 1 |k BWEE) Bk 27.06| 2 |EEVLT=) et 27.96| 3 [FHFOAVLYEA) BAEEH 30.12| 4 [{EAEZHY(3) KE#EH 31.41
5 &N #28R@) RAH 3155 6 |5 #H&HQ) REFE P 31.99

7/11 %;ﬂ 8] -27| 1 [|HE HHEO) =AS 27.78| 2 (%A FFQ) RE#F 2805 3 |E% £EQ) Sk 29.82| 4 |[HAREE®) FESF 29.84
5 (@ BEE® fEug 3234 6 | KA 1M2) RAH 3241| 7 |EE REQ BEIRP 33.57

7/11 %;ﬂ 9| -13| 1 |&iE FZ®) )l 28.40| 2 [FEES IEXEQ) SiEH 29.04 3 IS H#H(2) BEIRP 2971| 4 (MR #FHEQ) ol s 31.06
5 |XRk EEM FREH 31.38| 6 [#AK —ZE@Q) HHEH 31.42| 7 [EHFVEDQ2) B 34.13

7/10 ft;smm 1 1=K HEE®1) #Eld|  2:23.02| 2 |7rER Fik() SAF| 24304 3 | KB DEWD SIEpch|  2:47.17] 4 [=HEBM) [KfEsp|  2:50.10
5 |[&Eh BZEW) EFAH| 25103 6 [EF EENW) R 2:51.60 7 O @WAN) S| 30020 8 | LB MK PIBEIZEH| 3:20.36

7/10 fgmm 2 M L==EC) #hild|  22807( 2 |FES BE(O) Rae| 23721) 3 |FHE WO RE#H| 23072 4 [RE BHO) WT|  2:44.08
5 |\ #ER() Bld| 24695 6 |EF #EG1) "ED| 24777 7 |/NE FEEQ) [RiEsp|  2:47.97| 8 |BIREREL0) REFESR| 2:53.71
9 |LAEIKE() | 25961 10 [[EH FE®1) E&®| 3:1087

7/10 1#;80% 3 1| X% BF) b 2:34.34| 2 |SROHDM) 5|%eh|  2:39.19] 3 [#A —E®) Bep| 24001 4 |HeF #D AFH|  2:45.92
5 |XB #&E) Bld|  2:46.14] 6 |BEOXKB0) EED|  247.11] 7 AKX #ERA) WiER| 2:52.20] 8 |&A FRE() HEp|  2:53.95
9 |RTER  #E(1) FIEI%E S| 2:54.55( 10 [#@E #F0) spiEep|  2:56.72) 11 |4 HZ() MES|  3:23.47

7/10 ?E%BOOm 4 1 |k# Em L% 2:3370| 2 (K FEO) ERH| 2:3652| 3 |HE D) EEh| 2:3946| 4 |FA¥E BE() Rdbep|  2:39.75
5 |KAT RE) hEt|  2:46.04| 6 |HITEHES®) MERP| 24723 7 KB #FW ME/NES| 24907 8 [HF LW Fa| 24912
9 |RE #HM) Fet®ep| 2:52.40( 10 |FHH =E=BR() T 2:54.69) 11 | BALEDAO) EfEp|  3:01.41

7/10 ?;80% 5 1| RIS E#01) ERh| 2:3577| 2 | A% kmk(1) mAS| 24319 3 WO KEB() J\Reh|  2:44.08| 4 | Rl EEZ=(1) REFEH| 2:45.45
5 [SINl (1) MBS 24779 6 |[fEBE ER() ME/INED| 24819 7 |EEE FEXO) EAh| 24877| 8 |ZKE (1) B|  2:49.60
9 =& B E%Ht| 2:50.13| 10 |thFE BHE(1) Fe| 31231 11 |F  HIED MewEep| 3:34.15

7/10 ?gsoom 1 1Bl E£%2) AE#ED| 23209 2 (LB BKFHQ) MEEP| 2:3465 3 |[ILAFEMEQ feh|  2:38.96) 4 |AT EZ(Q) HiFES| 2:41.08
5 |HIF IHE2) Aded|  2:41.16] 6 |EA #XREQ) EEHR| 24746 7 |B BEQ EHh| 24982 8 |4 KAQ) 51|  2:53.11
9 |E%H EMQ) math|  2:56.61| 10 |#&RE &EIRQ) S&£d|  3:01.66

7/10 ?E%SOOm 2 1 |RE #E2) ENd|  2:28.00| 2 |#ALTMET=(2) EEd|  2:30.98| 3 [/\X BHEQ) tfEeh|  2:31.50| 4 [A% T|IEQ) MEiRP| 2:3487
5 [ER BEQ) TERH| 23513 6 [AAX ¥HQ) HiEch| 2:36.56) 7 |iEH H£EFQ A 2:37.27| 8 | KB HF(2) Rdbep|  2:37.61
9 [#K B4 Q) BES| 24810| 10|hE () 5|Epch|  2:52.15] 11 [/hith R7E(2) AFth|  3:02.09| 12 |#TE FEAQ) FHe| 30578
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7/10 fgsoom 3 1 |ER THEQ) AFd| 2:27.09] 2 [Nk BH@) Ehp|  2:220.12| 3 |[HBR BHQ) =G| 2:3474] 4 |BH FX0© ZEAt| 24086
5 [#AK £5(2) X&rh|  2:41.92| 6 |BE 1% Earp| 245.13) 7 |BE Q) Br|  2:5059| 8 |[{E#E HEE(2) L]  2:55.18
9 |FE5 EO® JhED|  2:57.82| 10 [{EHIFDH(2) BED|  3:25.40| 11 | BHEEQ) HHSP| 43867

7/10 fgsoom 4 1A #HEQ2) KRB 2:2051| 2 [HBAAHSEQ B 2:33.05( 3 |4 A1) SA| 2:3352| 4 |[EE  #HQ2) FEh| 23833
5 |BTERKD 7 HM2) EFRH| 24658 6 |/NE HiD(Q2) HHb| 24668 7 |HE FEQ) Z2igd| 2:4801| 8 |lUX XF(Q) ME/NEHR| 24817
9 [FRAIFEUAT=(2) FIEI%EF| 30530 10|BFH EEQ BESP| 31162

7/10 f;soorn 5 1 |FEHEFFQ) WRiES| 2:2485) 2 | —TEQ@) EHG| 2:3534| 3 | KEKAMIEQ) BEFER|  2:3591 4 |&BE BRQ i 2:39.10
5 |RHEEEFQ BEAD| 2:39.64| 6 |TRFHEWREQ) EBEs| 24473 7 |WT BXRQ) AED| 247.16| 8 |ILUF EMHQ) ME/NEH| 24889
9 [aTH ®&HQ2) FeiEn| 2:51.35| 10| T/ HAQ) JED| 25782 11 |HO FE(Q) KEH#EP| 25815

7/10 f;smm 1 1 JIE #50) KR 2:2504( 2 [NIFFEDAE3) AED| 2:3221| 3 |fEA H#HEO) SIEFd|  2:3257] 4 (8K EFIQ) FHe| 2:3543
5 |RE BREQ) | 2:41.83( 6 |40 FiE@Q) JER|  245.18| 7 |BE EEQ) Rid| 246.12] 8 [BK =E®Q) F/Ltd]|  2:48.11
9 AR FF]EA) SEd|  24996| 10| T %@©) R 2:55.67| 11 |#sk EFOEQ) SA|  2:56.96| 12 |fhF HETEQ) RES|  3:00.14
13| EFi@B) Zugrh|  3:00.54 14 | K3 FRIE) FIEIZEH| 3:.07.28

7/10 ?gsomn 2 1 |7kiB 12#3) #ENcp|  2:2478] 2 WU EFE) 5|%h|  2:27.42| 3 [YEA FE®M) BiRh| 22859 4 [HFL EFO) Fh| 2:2893
5 |[#E FITEQ) Aded|  2:32.65| 6 |HFEHR®M) Bld|  2:37.68| 7 |hngE FLAEQ) LEsR|  2:4187| 8 | EF FEFEQ) REFESR|  2:41.91
9 |Bax  #EB) EBarh| 24468 10|ER £EQ) J\Re|  2:46.50| 11 |#EH BEQ) FIBI%E S| 3:00.78| 12 |7l &4(3) MES|  3:02.07

7/10 ?gsomn 3 1 |#E $HL\3) fERh|  2:2755) 2 |5k B@Q) Eizf%p| 22798 3 |HL NEQ) Aded|  2:2851] 4 [luA LF@3) | 2:31.04
5 [N+ BBIKEQ) thlEeh| 2:3262| 6 (=& HFO) BEt| 2:3443] 7 |HE WEQ) F/Ld| 2:37.13| 8 |dtiE Z Q) WRAER| 2:44.78
9 |RE BEEQ) BED| 24777 10|EHEESA) HFEH|  2:56.10) 11 [&R) BH(3) | 2:56.78) 12 |ATF ZERAQ) K& 2:57.60

7/10 ?gsoom 4 1 [RE BRE) ENd|  2:27.09] 2 |FRALIEG) Brep|  2:2084| 3 |hE HIKE) Hldh|  2:33.18] 4 |KGEERFQ) KAXAH| 2:3475
5 [ILAHHMEEB) BEP| 23799 6 |KiEF KEQ) #ED| 2:14057| 7 |FE MWiEQO) WEF| 24124] 8 |BERAZEQ) REP| 24259
9 |&EHE RXK®M) Zigdh| 2:4355| 10 |4l FEQ) EAS| 244471 11|&F BEOQ) ME/NES| 24795 12 |F)N FHE®G) HRc| 24854
13| BAEER) EuEh| 2:51.78

7/11 E;ES%H 1151|480 =2k2) SY-Ls 1389 2 [EF XAQ® KEH#H 1457( 3 |FE FHEQ) Rl 16.23| 4 (B8 #&EQ g 16.74
5 |EE &=©2 #E 17.37( 6 |#R[R #|3E®) EEH 1750 7 ;&% IRiD(2) #icp 19.75| 8 [AAR E#H31) iRt 19.98
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BRI A ML BEEES
AR [E3E] #] & [z K4 FiE ok | fr K4 FiE Fofx | fr K4 FiE Fofx | 4 K4 FiE FCER
7/11 E;EB%H 2| -07| 1 |FLUEEEQ) &l 13.31] 2 |BAH Eh(2) Bk 14.07| 3 |RERBEFZ=Q2) %)l 14.35] 4 | KM ZEir2) et 14.47
5 izO EiEM) P 16.72| 6 |5 #FHQ) REFE 16.85| 7 |EA BEAQ) B/Ls 2081] 8 |R&JNIMNAQ A 21.47
7/11 E;EB%H 3151 |RE Z©2 EfEs 13.35( 2 |HIEA E#Q2) %)l 13.71] 3 |#aK FAE(2) gk 15.82| 4 |BR BEX(2) REFE 16.72
5 |AS FFE©2) BEH 17.09] 6 | K+ #52) EERE 1827 7 |EK 2() EEgw 18.82
7/11 E;EB%H 41-20|1|JIIE ER® Ak 1417 2 |&OMEH2) el 16.05| 3 |HEE 1&5F(2) BEH 16.32| 4 |REHAEQ) FHeh 16.73
5 [ithAR ILEQ2) EEh 17.28( 6 |ILUA JHEE(T) A 17.43] 7 |FTH FTR(Q2) EERE 17.51
7/11 E;EB%H 5]|-08| 1 |K+ EAQ R 13.98| 2 |& RZEQ1) B 15.15| 3 |#i# BFQ) MtE/NE s 15.16| 4 | FEQ) TEEH 17.31
5 | AL ZEIR(Q2) JNEH 17.44] 6 |HE BTEQ) FEd 18.77
7/11 Egﬁsom 6 | -05| 1 |1hT #HHHQ2) Uy ey 1326 2 [/ A 5| ¥ rh 13.30| 3 |EN| FEZH(2) Rt 13.78] 4 |FHL FHEL(2) R 14.59
5 1A 13EQ2) MftE/hE s 16.30| 6 |HEMEH() HHEG 19.26] 7 |#&BE OBEQ) TEEH 20.16
t% BE AN = = =gy, k4 LE R
7/11 (B2 £80mH 71-07]1|BR £E202 Rl 1381 2 B 22 AE#EF 13.95 3 |BEAR FKQ) =5t 14.14] 4 B L £XKO) ks 17.76
5 |EO £3) HHG 18.54| 6 |FaA EIE() B4 1857 7 |AA HAZE) ER 18.70
7/10 ﬁ);H 1]1-06]1|8X #F@Q) R 14.90| 2 |BHARGEDIXE) 2z 15.98| 3 |[{RBEERKE®) g 17.18] 4 |HE #F0Q) JNEH 17.30
5 | LR W#EQ) 1l 17.31| 6 |BAIER BkiLM(3) ES 20.20] 7 |E FHR(E3) =EH 21.06
7/10 ffm%mH 2 | +04 | 1 |JII3D EEF(3) ZEth 15.98| 2 |fIA2#4a(3) Bl 16.51| 3 |&#a D&HEQ) BES 17.42| 4 K HEQ) %)l 18.05
5 [iI#EBAR &) Bk 18.37| 6 |&Xk =2 ik e 19.86| 7 | KARFTH3) ZEd 20.44
7/10 ffm%mH 3| -04| 1 ik FHEQ) BF/Ls 15.94] 2 |FHd FFQ3) EfEg 16.41| 3 |dhAT BEZE(Q) R 16.69| 4 |HIE #7(3) BES 18.48
5 |JIIAR B7503) EERE 18.88| 6 |EHHMYAEM) 5| ¥ rh 19.83| 7 |FA #£X© ik s 21.04
7/10 ffm%mH 4 -02(1|xK%H DO TEES 1553 2 |FF Z2AOQ) =AT 16.53| 3 |2 @(3) 2z 17.77] 4 | BAEQ) AEHESD 18.19
5 |BFE BFEOQ) INER 18.89| 6 |#1F #+FO) ME/NE 20.38
7/10 ﬁ)o%mH 51-03| 1 |/EHA E#&3) R 1581 2 |28 #5(@3) Bk 16.92| 3 |t HFHFFO) B/LH 18.48| 4 |k PZ=Q) et 19.79
5 |=%F MWEQ) RKEHF 19.89| 6 |EFEAX MMZEFQ) ME/NE 20.18
7/10 ?ﬁfOOm 1] +1.4] 1 |F BoH(1) KK 13.24( 2 |luA —%E(1) BHEd 1419 3 |&;w EEQ) R 14.32] 4 |/NE FIEQ) Bk 14.33
<HER > 5 %L #HEFQ) AEHH 14.44] 6 |[LEEEF() ME/INE 1456( 7 |&EBE FTEQ) BaFE S 14.76] 8 |FBINEZEM) AT 14.86
7/10 ?ﬁfOOm 2 1-02| 1 |HEFP BIEQ) wErEF 13.77] 2 |EER BKO) =AT 1426 3 |BAK #£3() EfEg 1458 4 3Rt #wFA) L] 14.62
<ERB> 5 | EEK() BES 1467] 6 |2  HF(1) Bk 14.78| 7 |EE#E BEFO) B 1495 8 |EIFE L (1) BAH 15.55
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AR B ] & |4 K% i EEfx | 4 K4 FiE EEfx | 4 K4 FiE EEfx | 4 K4 i E%
7/10 f‘;mm 3| -09 | 1 |#kBE IR ME/NE 14.14( 2 |RE FB®1) R+ 1441 3 |HHE F4£®0) Eep 14.69| 4 [#F #E=01) =AM 14.72
<EERB> 5 [BER FB(1) HoEldey 14.75( 6 |EHE FiZ®1) e 1478 7 |2 EiwBQ) B4 14.80( 8 |AILZEAMRE(1) B 14.90
7/10 fgmom 1|12 1 |8INIFEMHEQ) FA® 13.22| 2 [ L% B TEES 1384 3 [BHRE #HRQ ERH 13.84( 4 |EN 3E%x2) ey 13.87
ERED 5 |&iEk #EKQ) =AS 13.89( 6 |F@ILEEEFQ2) )1l e 1391 7 [RAEHFEQ) BEIRP 14.11| 8 |RKEETF(2) iRL e 14.58
7/10 fgmom 2| +02 | 1 |ARILZERK(2) NS 13.37| 2 [MAERER2) HfEsp 13.74| 3 [RK B2 HiHEH 13.80| 4 [(ENIBZTEQ2) 5|25 13.85
<EERB> 5 fEi&k #E5@) iRLe 13.86( 6 |/\% #Zx(2) shIR 1393 7 NS EH#(Q2) BEIRP 14.04| 8 |H5H #1EQ) HE/NE 14.15
7/10 f;mm 3| -05] 1 |fhEE #HH(2) - Sl 13.20( 2 |ZEH £H2) KRE#F 13.44( 3 |HAH BXQ) &EH 1358( 4 |RRE EEQ) AT 13.82
ERED 5 [88R #EE(2) Rl 13.87| 6 |FAMEAR(2) SpiEA 13.94( 7 |BEA EIAQ) e 13.99( 8 [ILA HiN2) SiEH 14.07
7/10 i}tﬁfOOm 1]-18] 1 |EB #1EQ) EFNES 12.86( 2 | X% DEEQR) TEEH 13.40| 3 'IIR H%&H Q) =4 1352 4 |80 #HEQ) EFAH 13.69
ERED 5 [FR ARQ) R4t 13.71| 6 |F8  EEQ) L& 13.85( 7 |Ah Fif&@3) ZEH 14.08
7/10 i}tﬁfOOm 2 | +00 | 1 |KE FH#E@3) Rl 13.12| 2 [5E HEEO) SP-L 13.13[ 3 |B{EV471=(3) FRewE P 13.44( 4 |HHE #5F0) TNEH 13.59
ERED 5 BB EEEQ) NEH 13.79] 6 [ARITAM®) thE 13.98( 7 %8 #HFQ) &EH 14.09( 8 |k BE®Q) mEIRP 14.09
7/10 i}tﬁfOOm 3]-03| 1 [HRLIFEDOHE) e 12.99( 2 |Bal () TEEH 13.07( 3 |k HEEG) Bk 13.17| 4 )53 BE4%(3) ZEH 13.23
CERED 5 |f@ES EXRQ) X 13.83| 6 |FIEHSA4(3) #iep 1385 7 [T YI(@) FHep 14.38( 8 [HFOVKYQ) A= 14.52
7/11 %iﬂ 1121 |EA #%IER LS 2653 2 |HE WHEQ) =AP 27.50| 3 | KE PHQ) Rl 2753 4 [A$ EXRQ) f&EH 28.30
CERED 5 [E% EE@Q) NS 28.63| 6 |/\fX #EE(2) HR 2897 7 IS HH#(2) BEIRP 2951| 8 |BiEF4<%EQ) BEF 29.74
7/11 %jﬂ 2| -26]1|BX #&FQ) thlE 27.14] 2 |&F&F oA KRHLH 2150 3 |BER HZEEQ iRt 2794| 4 |&BITZB FZ@Q) #icp 28.27
CERED 5 |FER ZFQ2) RE#P 28.33| 6 (S 1EXE) X 2882 7 |®EK RE©@) B H 28.93| 8 [#MA #HE(@) A 29.48
7/11 %jﬂ 3| -1.9] 1 |Rub ZB@3) TERH 2691 2 |k BEQ) Bk 27.16| 3 |BEVLI=3) e 2757| 4 |ER WEQ) ENicp 28.29
ERE 5 |[EAF F#EQ) ERT 28.40| 6 |EH B A& P 28.47| 7 |H& EAE®) F/tdh 28.83
7/11 égﬁsomH 1|-15] 1 |[fhEE #HTH2) - Rl 1354 2 [R# ®AQ) thIE 1396 3 [JIlL EEQ Bk 14.05( 4 | KM Zi2) e 14.21
EERB> 5 | RE®W B 1470| 6 [EF XAQ KEH#EH 15.01( 7 |k 1&F(2) EEH 15.97( 8 |AI# #EH(2) HE/NEH 15.98
7/11 E;ES%H 2| -05 | 1 |#ELFEESQ2) #lep 1320 2 |/"h#k A2 5% 13.22| 3 [BIR #2() Rl 1341 4 |At Ek(Q) Bk 13.93
EREE 5 |RRAFIRQ) #Eth 14.33| 6 |FHL HBk(2) R 1459| 7 [#BAX L@ HiE/NE T 15.67| 8 |[BRAMEA2) B o 16.71
7/11 E;ES%H 3|1-05]1|RE %2 X 13.22( 2 |HIE HH#i(2) LS 1331 3 [BEO %#2k(Q2) =AS 13.70| 4 |Be =2 KEH#SP 13.71
EERB> 5 |EX] FEHRQ2) ZE® 13.94| 6 [BEA FX(Q) =&t 14.04( 7 2K FEEQ2) B 15.96( 8 [T FHEQ) Zich 16.12
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AH B ] & |4 K% i EEfx | 4 K4 FiE EEfx | 4 K4 FiE EEfx | 4 K4 i E%
7/10 f‘;mm 1] +05] 1 |#% momm) wxneml 200 2 |me wiEa) weram| 1351 3 |RmE mRO) mEs|  1414] 4 |EE mxo) maEh| 1427
R 5 |lUA& —#) E&S 14.29| 6 [{&/k #&1E) MR/ 2 14.30( 7 |/hE FNEQ) BkH 14.44| 8 |&t EEQ) e 14.60
7/10 f;mm =11 1 |8NEmEQ) FA® 13.23| 2 [A{RILZERR(2) #Eep 13.26( 3 |[f4EE #HTH(2) - L 1331 4 |EH £HQ) KE#EH 13.52
R 5 |[HF BRQ BES 13.58| 6 [MAAEREZ(2) SiEH 13.70| 7 [BK B2 HiHEH 13.84| 8 (LB ER(Q) EES 13.89
7/10 f;mm 1[-13] 1 |BEE #%IER) EFNES 1281 2 |HE W#Q) =AS 13.11] 3 [#LIFDANES) Eep 13.12| 4 |KEE FH(3) Ziep 13.12
ERBE> 5 |FL EERQ) TEES 13.18| 6 |/nEkE HEQ) ke 13.29( 7 | X% DEEQ) TEEH 13.35] 8 |JI:A ¥E#k(3) g 13.40
1 (X F 1] +06 |1 [5x mxo | 2250 2 |EE B il 2584] 3[Rl BBER) Eh| 2616 4 |& HoH) kRuh| 2643
R 5 | EEQ Bk 26.74| 6 |KEE FIFHE3) 2igep 26.77| 7 |BEVLEEQ) e 27.29| 8 [HE HAQ) =ZAS 27.71
7/11 ?gsmm 1 1=K HEE®1) Eld|  2:2297| 2 |ME BZO) #Niep|  2:2857| 3 |XRBF BFI(1) L& 2:3072| 4 [#BK FZO) TEEd| 2:30.96
R 5 [k# B Ei2%h|  2:3096( 6 [RUg E8H(1) fEEd| 2:3357| 7 | TE HE=G) fRAber|  2:35.93| 8 |mUADB() 5|%th| 2:36.54
9 [HE —FEW) Bep|  2:38.14[ 10|&HE D7) EHED|  2:38.16| 11 |FE B KE#EP| 2:38.70] 12 [F94k BEM) jRdbep|  2:44.05
7/10 Ztﬁ%BOOm 1 11BN THEQ) Aigf|  2:2550( 2 |HBFEFZQ) WiER| 2:2656| 3 |[RE &EQ) Eld|  2:2724] 4 |)\X BEQ) R 2:29.70
R 5|4 4T =AH|  2:3052| 6 |MLUMET(2) B 23091 7 [BHR E£XOQ KE#HH| 2:31.49] 8 (L 2#©Q) Ed|  2:3243
9 |[£B ®&FHQ2 AERD| 2:33.14) 10 |[BEARAHEEQ) | 2:33.93| 11 |[BA B#EQ) EAS| 2:3421) 12 |HEK $HEQ) KRAA|  2:3753
7/10 ?gsomn 1 1 IE #50) KRp| 21451 2 [KB RBHBO) #Niep|  2:18.69| 3 |HIE BREO) | 2:2447] 4 |#E HLEA) TEEd| 2:2453
CREE> 5 |FHRAKREG) Brep|  2:2463| 6 |kt B@Q) Eiz%h| 22659 7 [YEA FE£EQ) HiRd| 2:2801| 8 [ILT EHEM) 5|%h| 2:31.74
9 |l /NE®) Aded|  2:32.22] 10 |FWL BEFEG) ZEd| 23479 11 |lLWK LF@3) | 2:41.52) 12 |JIIBADAEB) AZEd| 24828
7/11 ﬁi)m 1 1 |FEEFFQ) WiEH|  5:21.93] 2[R 52 Aah| 5:4334) 3 |HE EHG) Brp|  5:49.85| 4 |FAHE BEQ) HARG| 55214
CREE> 5 |AK BFQ) shE|  5:57.30| 6 |HiE RBEQ) Fep| 5:558.26( 7 |[RE £ FiFep| 5:58.93| 8 |EME  H@Q) RES|  6:00.09
9 |BX HHFQ =8| 6:0043| 10 |0k EFZA) LiEdh|  6:00.78) 11 SAEUAET=(2) FIEI2EH| 6:0322] 12 |AF =) K& 6:07.56
13|8F #EQ) FAH| 62011 14|82 HEQ FEh| 6:2005) 15 |BH =82 PIRIZE+| 7:43.83
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